Howewerk @

Tthigler - Order Linear ODES - Svlutions —
@‘ Y= ™ eosX + C2 € gmX Y= Cre oS - CaZ ix
o/ + 022X X + 02 87X DS X

W_oy? -
V& 25 +2j’o = ex ((QH’CZ\OJ)SX t (QZ‘&\) <‘\MLX>

(). y=1, Yy (0)=0
y(0)54 => =1
y/(O)ZO => Q4+QQ_ =0 =»0=-4

(v). Yy)=1; Y (1) =—

:»B: eoosx—e gmx | One solukron.

J(0)=4 =>C4=1 . /--(yovd‘w:tdron.‘ => 1o Solwon
3(Tﬂ=‘ A= "C4€T= -A => Q4 =éw

(). y)=0; yam=0

Joomtme o e oy o
e = I e 0 -wmany € ns
X(Tr):o :>‘Qle1r=0-.—,>cl=o J__ 2. ’ 2 — n‘ji

(). 3(°)=4}‘\}(T‘77_)=4
Jo)=1 =>04=1
JWZ)=’| => Qzejr/z: A =>QZ=€:WZ

— 7

oz 'I
3 => Sl)) = QXQDSX +e zex%‘mx One S'D\uJiDFL

@) (@), $100=7; 2260 2005 5 $500= 32X
F200+$500= 1 = L)) Foratt x =>Lom, dependents
(b), Ta0=s(2X) 5 $20)=1; $3) = ws>x
F100=2605"x-14 = 2 5 (X) = F, (X) Gor Al % => Lom. Aepomdonts

(). Fa) =X, T2X)=X*5 $3(X)= 4X- 22
F3 (0= 43000 =33.00  for al X => Line  Acpond o

(@) 1) =% 5, 22(X)= X 3 Fa ) =3X 3 Ty ()= X
F20)= 3,0 ol x => m, Aepondents
=><3,3°M (0 4042001450040 €*-0 $nate x. )




@) vx,x* ; (o,

X X .2
= | 4 = 2X0X — -2 0 on (o,
2x X Zi = ZW% Aoonloe)

(v) A+x, X3 ; (-0, )

3 2
W= R \: IR = IR v 20 #£0 ew R,

A IR*

» . Saat
(@)e*, €%, e*™; (-w ©) Wmfw W =
’ ) 4 /0 Tor A0 T~
X X / rﬁm
= ™ 2% ) —2X
W= ex e-x © b""x toe 2X - e &
e -7 g4e™ [=el |4 - 4 | o™ o Z26 ¥
e e AbeM 1 €™ rpe™ o o 47X
PR 7 =
_ X |72 7 %e X 2p0
- [T g naoe) L0e”)

#0 ¥X

X Xdx  XEmx / XXX XK
W=11 " juxer  2xmokex | =
0 J;(' ZM+3 0 iX- 2 MK+3

o XX +X

,‘ =X (Z)MM’.S ~ k- !)
N 2mr+3

4 (MQ) + 0 % (0,00)

"



() e*eos (20, e*am(ax) e (e, )

N= QXC‘JDS

=g (

e eos (2X)

(23)- 2 &gm2X)

(excos (2X) -2€" e (2X)
—2€*$m(2X)- 4e’eog(2x)

CoS(2X)
" 008 (20)- 282X
~%00S(2X) — 4 (2X)

ts(2X)
~ 2 (2X)

~ bong (2x) -4 owml2x)

i (2X)

\ 0os@X) + mu2x)

4 :/ P
A(2X) — B 2X) 055G + eos(2X) + i(ww(;x\b

/

2%
= 3 #0 mm R

X (2X)

" s(2X+ 2 €7203(2X)

(e" P (2X) + 2€*cos (2X)
+2€7eos(2xX)-4 ™9 (2X)

Fa(2X)

Fn(2X)+2 an3 (2X)
-2 (2X) + 4eos(2X)

alvul 2}{)
2ws(2X)

~Lm (2x)+4cos(2x)

N { ";Lx)

i (2X)- ops(2X)




@ ; y =y -Azj_ { S } (=00, w)
':SS e o Bolubion 7
3 _é%x .
& -9e,"3" (4= ™ 126" 0 Ny
y’=qe”* |
o 44 " o golukpn ?
g=e” )

e Ty e 4e e o e
Y "= 4 4
* Are M Al meondy A‘MALPWM?
3 kx
e’ e ) .
e = 4e'+3e =Fe” 20 Yy
_,363)( Lleux \/’_

= Tumdawmensad At f
= Qonerall Sotuwton, \j=04€:3x+elef‘x (l

E—

f(b}. Jm)+j”:0 p {’1, X, CosX, fn‘m_x-_’]; (—¢0,00)

* Ia Y= =A & %o\won ! Ve (J’ JUO )
* Ta y =X a_golukion? Yes (Yo gt _
e Ja y =CoSK o Solution ?
3’= ~ WX
Y% —aosx |
3”’-’—‘3\7&){ \3 (‘f) ) \fJA

:}Ul) = 00SX

o 14 Y = X a solwwn {
/-
% = (oS X
//___ *%\mx

'/ (a)
\?”’: —QoSX / 3 yJA

4= gwx



* Ane {q/x/ osX, ‘&\\ALX} ,Qmw.mﬂg FMABPQMAM:?

1 X osX A
A - MK OOSX
- _ ans _ —~QOSX —FMk
W 0 A X * = D —pSX -GmX | = \%wx _@Si = 003X+ X
0 o -Qosx -BuX 0 WX -CoSX =1
© O  4AmX -0osX F0 ¥X
=> L imdp.,
=> ‘huwprdawenkal X ) D —_—
=> go\whron, | \ = G+ R+ C3CnIR+Cqy TIMA '
gl 4= CrrCana CaonsxCy X |
@(&j\’* 3"—3’—42] = NMUX-41%eosX
j‘, oS X .
4
3 - —<imX J ¢ ‘2}7—423,= —00SX + P X — 42008X = FX-4Z00s X
-—oosx v

:>C%MMAL§Mwmm~

j cre?ee, et +opsx \(

ﬁ:(_‘oii y(q)+ y” = 20e™
Yo = o2
Y6 =2

39’/ - 4€ZX — (q) B -7 E’, /
i y'-

o) =Ape™

=> Qenral go udton. \E\ + C2 X +(2008X + Cq DUX + ezj




